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g fall: 284 pqE @
hx: L5 2784 Gl T
cachexia: L% &7 &/ F(¥ %7 2)
age: £F 5 &E% (>=60 )
sex: %

risk: » Fap% 53 & #c 0-15
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1. U# ﬁa—?\ g P RSB AT AR EEEAFF A REFE 222581 095073

iﬁ?‘:ﬁ&l&i’pm T AT L o

¥ $E N il HEN 95% CI p

& 1.18 3.26  (1.01, 10.48)  0.047
A 0.56 1.75 (057, 5.40)  0.331
o [ RSk B % Y 1.66 525  (1.53, 18.0)  0.009
B ) AR 2.18 8.86  (2.26, 34.77)  0.002
b A B 0.23 1.26 (102, 1.54)  0.029

2. I Pk gEvE S %ﬁ?&é%’ﬁlﬁp’?fi;‘ﬁr‘f:
Logit( P(fall=1) ) = -4.25 + 0.85 x(age)+ 1.04 x (sex)
+1.59 x(cachexia) + 2.09 x (hx)
+0.29 x(risk)
3. %4 [}%%;ﬁg\_ﬁ R ERR I ,b[}ii BN AFERETELL - > REERTR
Al 5o Rlikgp b Red Ariw et > R A P2 Tt ?
Logit(P)= -4.25 + 0.85 x 1+1.04x0
+159 x1+2.09x0
+0.29 x5

=-0.3761

exp(-0.3761)

P(fall=1) =
(fall=1) 1+exp(-0.3761)

=41%

4, g8 ¢t etk E)8 4 0 ROC (receiver operation curve) T 3p - H o 27T 6

(area under curve, AUC)
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logit(P(fall))=-3.3059+1.7778x cachexia +2.0633xhx+0.2377xrisk
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Diagonal segments are produced by ties.
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1. 1 2R A (sensitivity) ~ 4% 8 & (specificity) ~ F 138 i8] & (PPV) ~ 1438 8] & (NPV)
hul G R? AR RI(L-FRR)ER?
ag s B P(X=1|Y=1)=10/(10+10)=50%
B B : P(X=0]Y=0)=32/(1+32)=97.0%

15 158 p] i P(Y=1|X=1)=10/(1+10)=90.9%

—=

£ 1438 58] 8 : P(Y=0[X=0)=32/(32+10)=76.2%

wR R I(1-3 £ B ): 0.5/(1-0.97)=16.67



2. FlEivap s 0 hild - 9 0§ G 10%hE g BF L i
@145t B2 OFAL > [Gehp s Bbop b e 2 sy S0 (5% 8)?

P(r=1|X=1) _ P(¥=1) P(X=1|Y=1)
P(Y=0|X=1) T P(Y=0) P(X=1|Y=0)

_ ) o ) Sensitivity
{Posterior Odds} = {Prior Odds} X {leellhood Ratio (= — )}
1 — Specificity

¥ %% 8 P(Y=1)/P(Y=0)=1/9

(b)F7F - AT Femp k> EF Erg Bl ER B ARG R IHE - A -8

SRR I S EL R L P

T 1% 5 =1/9*16.67 = 1.85

¥ 8 1% 5°=1.85/(1+1.85)=0.65=65%

3. FT- By HEL - &G Wbip LE L RET

(@) 10450 G2 ATH . G 5 HRp LR LB E L (F 5% 8)?
% 2% ¥ P(Y=1)/P(Y=0)=1/99
(b) 5 — AT~ Pl > B SR BT B E AR R B 00

i 2% 8 =1/99*16.67 =0.17

2
¥ {645 5=0.17/(1+0.17)=14.5 %



